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�4�4�?�É�£�4�V����� �����?�4������� ���4��� ± ��¢4¢4�V�T���B�£�������V�?�
���V���:�$»1�4� �£���:���£�����4� �4�V�:��¢&� " �?¢£�B�����4�V�����4�4�
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¯��V���£��¢��V�:�$�V���������4�?� �4���������<�4�$�$���V� ���$�$�£���4�:�V�����
����¢?���V���4¢�� � ���������T�4�V���$�<�V� �����<�£����� �����4�4�
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¢4�����<�}�$�$���6� ¯6�£�6�&�6¢&�4�.�6�&����� ��� �4���<�4�$���&�
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�.�$���������}���0�$�$���4�'�:�4���²�4�����������$�$���8��©:�4� �����&�����$���&�
�$�������V�4� �Ò���4�$��¢4���6�4�4���6�$� ���������&���&�<�×�6¢&���£� �
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�V¤<���6�}�4�4�!�)����������¢&���\�2Î9�.�6�&�?Á2�'��¢��4�$�&�?���6�4�4�!��©\�}¢��
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���<�}�U�$¤4���&���W��¢��4�$�&�?���6�4�4�!� ���}���4�6���£� Î ��(T���.�����&�8©
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�4���������4�£�V�$���&�²�Ô�����������?���&�<¢£���<�4�4�$�������­�$¢4���.© �£���
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�V�7¢���»1�$���&�L�4�&�,�6�$�V�4�6�&�.�?���6� �£�������?�$�P�?�&�<�$¢4�$���&�6�
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½&�6�&�?�����

λ
�2�Ç�?�$���4�?�&�?� �}¢��4¤4���&»2�6�}���,�&� �������V�.�
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�$Á1�&� �$���$�V�6�}���R�&�$¢����.����¢��
λ
©Ô�&�$�����$���}���L���������$���£�

�'¢���¤?�4���%Â�ÃBË=Å��
W.�$���£�Ò�?¤�¢������?�8©¦�&�<�����$�$�&�=©)�?��� � �������4�?�4�$�4�4�

± �6¢}¢4�?�������£���$���V� ���?�.�$������� ��¢��?�&��½�� �4¤?�=���������
�V�4�4�6¢4�$�}�4�6� �.�?�����P�$�P�$����� �}�4���6¢��V�����®�6�&���<�$�}���
���$¢}���.����¢�� ���&�6�&¢4���$�4�4����� ÎO�

β
� ���������?�$���6�

���V�?�4�$�&�:�4���$� ¯������ �.�?��� ��¢4�����6¢��&�$�?����� ¢&�����4�4�
�4���.�6�£�6�}�4�U�$¤V�\�4�$�O�&¢��4�$���V���$�4�4�!� �$�����4�6�}�V�P¯����4�!�
���$¢}���.����¢��&©����?�4�6���������$�$���2�2����� �&�$¢4���&�<�&� �<�4�.�$�����4�
��¢��V����½&� �4� �£�?�}�����£�6�$¢}�4��� ���$¢4���4����¢�� �
�$�V�£Á �6�}�4���ª�
·U���?»0�����$���}�0©��)�������4�$�J¤<���$�4�<�&���4���4�Í�6���}�4���$�4�

½4�$�&�?�����²� �4¤?�.�$�������P�$���?�4�.�?�&�6�&�����?�&���8©7¤4�?�=�$Á1�&�
�4¢}�4�6�£�<���$�4�?���É©7���}���������4�Í�4�<�.�$���&�<�²�����6�}���¶�.�?»1���
¤4���6�P�4�����������<�V�$���S�?�&���\�4�$�&�?���6���°����Á��P�S�<�$�V�4�
���&���$¢��V�����,�$���$�V�6�}���­ÎS�$¤V�\�4�$�Ç��¢��&���&�<���$�?�4�!���}¢��
¢V����� ����¢4���1�$�2�1�&� �&¢4���}���V���V»1�6�&����� %µ�V¯����4�:�
��¢£�������$�$�$�&�£��� �}�4���6¢£��� �4���4�<�$�}�4� �6���}�4���$�4�
���}���$�.����� �&�?���V¤£�£�£� �$���������Ô� � ¢����������
����¢&�<�2�$�}�4���)�.�?�&�����Ô©=���4���$¢4»1�?�2�$�9�?���4�������V�����&���&�
�$���}�4���}� %2�?�$�4�4���?�V� �&¢�� �������¿� �$�����4�6�}�V���
�V¤<���6�}�4�4�!���}�4������¢����=�RÁ0��¢��}���Í���V�T�$�}�4���²�B¢&�?���}½��
¤V�\�4�$���®�Ç�.��»1�$���<���4�4��� ¢������������&�}��� �P�$�����&�<�}���
�$���}�4���?��� �V�6�£�����4�6�}��� ¤£�����$¢4� �4¤��3�?����� �
¢������������&�}�4���U�?� ���R½4�$���$¢��&©µ�V�4����¢&�6�&�4�4�,���}���������4�
�����$����� ± �$�4�$�4�4���$��� ����¢&���4������������� �4��¤4�?�=�$Á1�&�
�4�������4�R�$���&���4�¸�$¤V�\�£�6�)½&�$�4�6¢&�&�

,.�������.�?�$¢���� ½&�6�&�?���4� �&� �4���6��_£��� �6�}���&�<� �
�V��� ± ���!��¢}�$½���� # ���?�.�$���}������¢��$�}��½���$É©1���1�&�µ¤4�4�����
���<�&�6���$�&© �4���Ò��¢�� �����=���Ò�6�&�$�?�$�}�V���Ò�<¤V�.�6�}�4�4�!�
���&������¢����=�J�6�}���&�<�?��� �$���������T� �4�.�����H�V�4���=�����$�$¢��&���
����¢&�£�£����¢4�'�$���&�'¼�&=À Ú V ñ = V ò = −
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¢4�$Á2�$���&� �$�����

ΨÞ = ψÞ � �!� ( R Ω ? ) �6���4�£�&�����R�9�4�����8¨_4���R�=���&�6�&�����Í�£¢}�$�?�£�6�}�V��� Ú
(Ω − � ) ψ ñ + λ(ψò + ψ _ ) = 	 ©

(−Ω −
Ã
) ψ _ + λ(ψ � + ψ−

ñ ) =
�=©

¼�¥4§�À
(Ω − � − λ) ψò + λψ ñ = 	 ©

(−Ω −
Ã

− λ) ψ−
ñ + λψ _ =
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�V���4���£�}��� ���&�����4� �����6�4�$�&�6� �$�$�4¤?�4��� � ���!�
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λ
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�$�4�.�.����¢}�4�4�$�Ç�?�$���V�6�&�����\�$�&���$���$���
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���4���6�}�4���%��¢��$�}��½}���TÈ1¤4¢��?� �6���&�'�'���4�=�0���1���������V�6�
����¢&���4��������� ���}���4�6���&� �4¢}�4�6�£�<���$�4�?��� �}�$¢����.���6¢��
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≈
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¤4���6�4�4�����<�&�<�Ð½&�$�4�4�<��� ¼
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¼�¥��}À������H�V�4�4�6¢£�6�}�4�$�¸�.�V���,�&���4¤<¢}��»µ�$�}�1����¢��4�&�&¥0�
�V�����P��¢��}�$�4� �$�,È���� ��¢&�$�4�6�£�<���$���¬���<�V�����}�����S�
± �����&½����$�%¼�§}À����4�'¤<���$�4�<�&���4���4�'�$���}�4���$�<�J½��$�4�4�<�&�.�
(T�&�?� �£�\�¿� � ± ��¢4�.�<�}� ¼�¥ �}À ���4�?�$�$���������$�&���
�&���&�£�&���������<�V�$���£�£� �.�?���J�

ψ ò ≈ − ����� ψ ñ ���¹�}¢4���������
¤4���6�4�4�����<�&�<�®½4�$���V�£�&�²¯����,���?�����V�����&�R���$¢4�����4���4�R�
�}¢4�4���}�$� ± ���$����� �$�����£�£�V��� �£�?�}��¤4�?���£� �$�$¢4���&�6�
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λ∗ < λ < λ � ©É���6¢4�}���4�0�$���$¨���¹���&� "

=
¥É©�Ì Ã4©�����»1�}�4�W�6�&�$���­���&� "

=
�É©HÃR�

�}�4���6¢��V�$���
λ ñ < λ < λ �

�R���&»1���£�¸���}�$���9���4�R�$����� "
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�.�4��� �?�£�£�V�P�V¤£¢&�$�1�$������� � ���4�=�P� �&¢4���4���}�?�}���
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�4�$¢4�����V� �$�����£�£���?��� �£�<�.���&�6�4�$� � �?�}���4¢4�4���4�4�
�V�6�&�<�V���V� ���4�����V�����&��� È1�����$�£� ��¢}� �$�����4�6�}�V���
���$¢}���.����¢��
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��¢��V����½&�Õ�Ç¢����������S�<���$�3¢4���}�$�����£�£���?���U�V�?�.�4�����V���
�������4�4�$�4���!� ± �4���4�V�����4�%�V�����&¢<�$�����<�}���$���¿�
�8�4� ����¢&���4�����$���£� �6¢&�$��� ± �<¢4���$½}��� �6�&�$�?�$¢��Ï�

�V¤<�}�����$�
λ > λ∗
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��¢��$�V���$���£� ¼
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�V��� ± ���!��¢}�$½���� ¼�¥� �À ¼����&� ¢������������$¢��}�?�����T�4�
�$�4���������²���4���4���£�&�3�R���4���}�?�W�6�&���4���'�ª�£¢&�?�?�£�6�}�V���
¼
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_ ) � Þ � ZIÞ( _ ) © ¼�¥ ��À
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���}�4�$�$¢��£���4�?�?�&����� ��¢��$�V�4�6�}��� � �?�&���
� Þ = � Þ � � � Ω 
 © � Þ = � Þ
	 )�� Ω 
 � ���V���4�������
�$�4�������.�Ñ���Õ���4�6����� ���}�4�$�����¿�Ñ�}¢��$�?�&�6�&���×���&�
�������&�<�}� � Þ © � Þ � (T�$�4�����$�}�4�,�������$¢��.�����V�4�$�,¯����4�
�$�4��������� ������� �4�4�<�&�����������?�£�<� ��¢��V�?�4�$�}�4� ���&�
�4��¢4���������$���V�²�6�$�V�4�6�&�.�?���6�¶���������?�
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